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Name, Roll Number, Question Booklel code, etc. as
indicated on the Answer OMR Sheet. If these details
are not filled in by the examinee, hisher Answer Sheet
will not be evaluated.

. For each question, there are four alternative answers,

out of which only one is correct. Examinee must darken
the circle of comrect option in the Answer Shest by Black
Ball Pen only,

. There are 40 (37+3) pages in this Question-Booklet

including 1 page for General Instructions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or deiective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of star of the exam.

. This Question Booklat contains 150 questions from

following subjects :

{1) Maths Q.Nos. 1-50
{2) Chemistry Q.Nos. 51-100
(3) Physics Q.Nos. 101 -150

. Each question carries 1 mark and % mark will be

deducted for each wrong answer,

. In case of any discrepancy between the English and

Hindi versions of any question, the English version will
be treated as final/authentic.

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are resiricled during the examination.

. Any leaf from the Question Booklef should not be

detached. Afier the Examination, Question-Bookjet
lant_i ll?n‘swer-Sheet must be handed over to the Room
nvigilator.

. During examination the examinee will not be aliowed

to leave the examination hall till the END of the
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MATHEMATICS

1. Ifa, b, c are in AP and

a+b b+c
> =X, > =Y then the value of

(x+y)is
A) 2a

B) 2b

C) 2(a+Db)
D) 2(b +¢)

. Four coins are tossed. The chance of

getting none of the face as head is

—
cn|-*

A)

B)

C)

D)

bl D= 0]

. If (n?— 1) is divisible by 8 then ‘n’ is

A) a natural number
B) an integer

C) an even integer
D) an odd integer

. A cube of side 4 ecm cut into small

cubes of each side 1 cm. The ratio of
the surface area of all smaller cubes to
that of large one is

A)1:2
B)1:4
C)4:1
D)IZLL R

D)2:1
Page No. 3

i

1. 3 a, b, ¢ AP % 8 sft
a+b _ b+c

2 % Y @A (x+y)
F TR
A) 2a
B) 2b
C) 2(a+b)
D) 2(b +c)

2. IR faernt =t JoTe S o R oft i
T 31A S EET R

A)

B)

C)

for) —_

D)

3. FRE8F(M-1) TR ' 2

A) STiteR TEaT

B) quiie

C) ot & (g orier)
D) o quifs

4. T 4 cm Yo < 8 Y 53 1 om e

& T el ST § | It B o e
T & HE S A ST B

A)1:2

B) 1:4

C)4:1

1 PECE
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5.

A 20 m deep well with diameter 7 m
is dug and the earth from digging is
spread evenly to form a platform of
22 m x 14 m. The heignt of the
platform so formed is

A) 25m

B) 3.5 m

C)b6m

D) 7m

The median of the observations 46, 64,
87, 41, 58, 77, 35, 90, 55, 92, 33 after

replacing 92 by 99 and 41 by 43 is
A) 55
B) 58
C) 64
D) 43

If a line 3x — ky = 5 passes through
(3, 2), then the value of k' is

A) 4 B) 3
C) 2 D) 1

. The rationalizing factor of abdg is

A o2
b

B) JE
b

C) : a‘n+\!
bn+1

an—1

D) o =

5. T& 7 m =T 3R 20 m TR HE R GE

£ it 2 ok 39 gEE B R A
22 m x 14 m o1 = T R, 39 19
IR 2

A) 25m

B) 3.5m

C)5m

D)7m

. 3R 92 % 00 T i 41 T 43 AT T

T & &Y 3raceH 46, 64, 87, 41,58, 77,
35, 90, 55, 92, 33 i Wifed B

A) 55

B) 58

C) 64

D) 43

. TR (3,2) BB GH W 3x—ky = 5

W &l K T B
A) 4 B) 3
C) 2 D) 1

. abn% <1 afeRf orETe &

A 12
b

B)JE
b

C) an+1
bn+1

n-1

D) o2
bn-—1

1 PECE
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9.

10.

11.

Match the following :

Solids Volume

1. Cone a. inra
3

2. Cylinder b. ar’h

3. Sphere C. E,ﬂ-a
3

4. Hemisphere d. %nrzh

e. —1-1rr21

A) 1—d,2—-b,3~a,4—g
B)1-d,2-b,3-a,4-c
C)1-e,2-b,3-3,4-c¢
D)1-e,2-d,3-3a,4-b

If m and n are the roots of the quadratic
equation x>+ px + 8=0withm-n=2
then the value of 'p' is

A) +8

B) +7

C) =6

D) £5

The sum of the numerator and the

denominator of a fraction is equal
to 7. Four times the numerator is 8 less
than 5 times the denominator. Then the

fraction is

> A 2
A 5 8
B)% B)%
0 2 0 3
D)% %

9. Sirga faftay |
o= gy AT
1. 9% (F) a. %nra
2. e (freisr) b. mr’h
3. TMEmR c. _gma
4. e d. %—nrah
e. %nrzl

A)1-d,2-b,3-a,4—¢
B) 1-d,2-b,3-a,4-¢
C)1-e,2-b,3-3,4-¢
D)1-¢,2-d,3-a,4-b

10. 3R m 37K n fEemaes arftemor
X¥+pX+8=0FgAEANI M—n=2
3 PR E
A) +8
B) +7
C) 6
D) £5

. PR FIman A 72 | 20w
FATTRFSTNA SR FAR, 1l
=R

D)



12. In the figure, APQR Iil APST and
perimeter of APQR : perimeter of

APST = 3: 4. Then the area of APST :

area of APQR =
P

SN

S
A) 16:9
B) 9:16
C)3:4
D)4:3

13. Every person in a room shake hands
with every other person. The total
number of handshakes is 45. The
number of persons in the room is

A) 5
B) 10
C) 15
D) 20

14. 1 x(x—2) = 1, then the value of x? +—1,‘,-
is X
A) 0
B) 2
C) 4

D) 6

A | Page No. 6

12, = R g omla & 3R
APQR 1l APST 3t APQRH
ofiftr : APST I uftftr =3: 4, APST
F1 &% : APQR 1 8% T

R T
o<
R
S
A) 16:9
B) 9:16
C)3:4
D) 4:3

13. T TR B i A g Al & 7Y
firemen & | w1y e Y Fo E@A 45 ®
A 30 TR & TRl T B
A) 5
B) 10
C) 15
D) 20

14, SR x(x—2) = 1 &7 x2 4+
X

T8
A) 0
B) 2
C) 4
D) 6
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15.

16.

17.

18.

The value of tan 7° tan 23° tan 39°

tan 60° tan 51° tan 67° tan 83° is
A} O B) 1

1
C) /3 0)7—5

If one root of the equation

X2+ax+b=0is —1- times the other.

Then the correct relation between
aandbis

A) 3a?=16b
B) 16a>=3b
C) 3a=16b?
D) 16a = 3b?

The area of a triangle formed by the
points (a, b +¢), (b, c +a), (c, a +b) is

A) at+b+c

B) abe
2

D)o

fy=m+m?+mi+...
then the value of ‘m’ is

e when |m| <1,

A} S
)1_

-

=yE

B) 1+

—y
|
- o

C)

D)

—t
-<|+ ~<|
-

Page No. 7

1

15. tan 7° tan 23° tan 39° tan 60° tan 51°

16.

17.

18.

tan 67° tan 83° %1 Y &
A) 0 B) 1

1
C) 3 D)-\/—g

3R X2 + ax + b = 0 Gt 1 T o
iﬁ%%w%ﬁaaﬁtb%

<ftel 1 @l Wer B

A) 3a?=16b

B) 16a%=3b

C) 3a = 16b?

D) 16a =3b?

(@, b +c), (b, ¢ +a), (c, a + b) frgait
ERT T 7T SRl 1 8w &

A) a+b+c

B) abe
2

C) 1
D) O

AR Y =M+ M2+ m? + ..., o Jq

Im| < 18a ‘m &gz 8
Ay Y

B) ——
c) 1=y

D)
1 PECE
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19.

20.

21.

in the figure, a semicircle with centre O
is drawn on AB = 8 cm. If |ABP =60°
then the area of AABP is

A

O

B
V3

A) —8-cm

B) 8 cm
C) 843 cm
D) 43 cm

The top of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the
tree is

10
A) —Jg m
B) 1043 m
C) ‘/_5. m
10
D) J3 m
If the quadratic equation

4x2 - (p—2) x + 1 = 0 has equal roots
then the value of ‘p’ are

A) 2or6

B) 2or—6
C) -2or—6
D} -2o0oré

19,

20.

21.

D) —2416
Page No. 8

i § T STEET % Hafeg O hl
AB = 8 cm 7t fafia frr mn 8 | 7R
|ABP = 60° 2 1 AABP 1 &% 8

A

0

A) —Jsécm
B) 8cm
C) 843 cm

D) 44/3 cm

it W 37ifires 9 § 721 goT U o1
TR & 10 m i g W i e 8 3R
Tl @ 30° 1 IR DIV G181 U
6 wang ®

10
A) _\E m
B) 1043 m
C) _‘E m

10
D) /3 m

37 fgema s 42 — (p~2) x + 1=0
FUA AR, W P WA B

A) 216

B) 2a1-6

C) —231-6

1 PECE
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22,

23.

24,

25,

The quadrilaterai obtained by joining
the points (1, 1), (- 1, 5), (7, 9) and
(9, 5)is

A) Square

B) Rhombus

C) Rectangie

D) Parallelogram

The linear equation coincide with the
line2x +3y=12is

A) 2x+ 3y =15
B) 7x+ 14y =13
C) 8x + 12y =48
D) 8x+10y=18

-4
Iftane = —é—then the value of sin 0 is
4
A 15
4
j: —
B) 5

-4 4
C) ?but not 5

4 -4
D) 5 but not 5

If sin (3A ~ B) = 1 and

cos (2A—-B) = ﬁ then the value of
2
sin A and cos B are

A) ¥3,0 B) 5.0
2

c) ¥3, 1 D) 3.1
2

Page No. 9

22,

(1,1), (=1, 5), (7, 9) 3k (9, 5) Figait
) S R ug ST g, T| R

A) @it

B) Tragy™

C) ma

D) TR Tqew

23. g el St 2x + 3y = 12 F E e

24,

25,

g, T 8

A) 2x+ 3y =15
B) 7x + 14y =13
C) 8x+ 12y =48
D) 8x+ 10y =18

—4
IR tan 0 = —= B, AsinoF AR

D) %%‘R‘%%’f

3R sin (3A-B) =1 3k
cos(2A—B)=£%,?ﬁsinAa=ﬁ'(

cosBw e 2
A 38,0 B) 5.0
2
c) gj D) 3.1
1 PECE



26. An arc subtends an angle 60° at the

27,

28,

centre of a circle of radius 6 cm then
length of minor and major arcs are

A) 2mand 10 &
B) 10rand2 =
C)8rand4drx
D) 4rand6n

ifp+g=6andpg=8thenp®+q®=
A) 218

B) 144

C) 72

D) 36

In the figure, if AB || CD, CD || EF and
X:y=3:2thenz=

. / L
E< / J > F
A) 36°
B) 72°

C) 144°
D) 108°

Page No. 10

26.

27.

28.

T 6 cm 5531 % 39 % g | 0 WM 60°
ivl aid a1 & @ Y =19 R Feg =
& TS §

A) 2310 x

B) 10n3R2n

C) 8nal4n

D) 4n3W6n

IRp+q=63Npq=8%,Ap*+q°=
A) 216
B) 144
C) 72
D) 36

39 3Hfa | PR AB || CD, CD || EF 3iRt
x:y=3:2% @ z=

A) 36°
B) 72°
C) 144°
D) 108°

1 PECE
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28,

30.

31.

In two concentric circles of radii 15 cm
and 9 cm, the length of a biggest chord
of the larger circle which is a tangent to
the smaller circle is

A) 24cm

B) 20 cm

C) 12cm

D) 10cm

In the figure, A ABC and A CDE are

right angled triangles. If AC = 24 cm,

CE =7 ¢cm and |ACB =|CED then
AE is

C
D E

: [

A B
A) 30 cm
B) 25 cm
C) 22¢cm
D) 16cm

R ORGIT

simplified we get

125 27
A) o7 B) 125
C) 1 D) 0

29.

30.

31.

& Fehfxd g9 i Bt 15 om 3t 9 om
93 39 R T 7 Shar o s B
I I W 1T B, 9l T B

A) 24 cm

B) 20 cm

C) 12cm

D) 10cm

IRfd # A ABC 3R A CDE mahiw

PR ISTRAC =24 cm, CE=7cm
3t [ACB =|CED &, @ AE ®

C
D E
A B
A) 30 cm
B) 25cm
C) 22 cm
D) 15cm
(Sl
16 25) \2
I g W e fireran &
125 27
A) 27 B) 125
C) 1 D) O
1 PECE



32, The reflection of the point (-3, =2} in 32, (-3,-2) g Y o1 F o freren &
Y axis Is
A) (3,-2)
A) (Ss _2)
B) (_3' 2) B) (_Sn 2)
C) (3,2) C) (3,2)
D) (0,-2) D) (0,-2)
33. A rational number between Sand 2 33, 5 3 2% ot < oida w2
TS 7 11 7 1
/3] = A) 39
77 77
g I B) 31
77 77
C) E C) 23
1 11
7 7
D) - U
) 5 D) =
34. lfa=2andb = 3, then the value of 34, Ra=23Rb=38F (a® +b*)"
(a° +b")" Is 1 ea &
A) 17 A) 17
B) 72 B) 72
Al Al
C) 7 C) 37
i 1
D) 73 | D) 72
35. If f(x) = x2 - 5x + 7, then f(2) — f(-1) = 35, W f(x) = x2— 5x + 7A {(2) — f(-1) =
A) -34 A) -34
B) 34 B) 34
C) 12 C) 12
D) -12 D) —12




36.

i,

37.

38.

The simplest form of

(2o

1
B) Xa—x—s

C) x“+;1a-

1
D) x’e '_xTe
The mean of 15 observations is 23. If
each observation is multiplied by 2, then

new mean is
A) 23
B) 46
C) 25
D) 36

There are 13 girls and 15 boys in a line.
if one student is chosen at random, then
the probability that he is not a boy is
s

15

13

28

AL

18

A)
B)
C)

D) L
13

36. (xz + xlej [x +

37.

38.

1 I €9 2
A) 1

1
B) Xa'“-x"i

C) x“+;:?

D) x™ _x_'1|6

1

X

e

1

x4

)]

15 STaeiie 1 3ftaa 23 &1 7R Io%
TSI %t 2 TN Forr STe &) e oftww

B
A) 23
B) 46
C) 25
D) 36

o dfe & 13 wefrat ot 15 we% &1
3R 374 € et T o W g e A
IGF TGH 7 81 Y HwEAI R

A
15
13
28
Ll
18
ik
13

A)

B)

C)

D)

Page No. 13
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39.

40.

41,

42,

Which one of the following are not the
sides of a triangle ?

A) 2cm,3cm,5cm
B) 5¢m, 4 cm, 8cm
C) 8cm,3cm,9cm
D) 9cm,4cm, 11 cm

1,3,6,10, ... are triangular numbers.
The smallest triangular number that
exactly divisible by 9 is

A) 18
B) 27
C) 36
D) 45

The sum of two numbers is 161. If one
of the numbers is 30% more than the
other then the numbers are

A) 71 and 90
B) 70 and 91
C) 54 and 107
D) 60 and 101

The common factor of (p? + 9p + 14)
and (p?+ 13p + 42) is

A) p+2
B) p+6
C)p+3
D)p+7

Page No. 14

39.

40.

41,

42.

T A e R tm S o T 2 7

A) 2cm,3cm, 5cm
B) 5cm, 4 cm, 8 cm
C) 8cm,3cm, 9cm
D) 9cm,4cm, 11 cm
1, 3, 6, 10, .....Bravfig e ¥ =

B Freofiz g st 9 | yoin: o= 2
i

A) 18
B) 27
C) 36
D) 45

A g W I 161 B AR A TERA
Y T gEL Y 30% T @ ot 98 T R
A) 71 3t 90

B) 70 it 91

C) 54 3R 107

D) 60 i 101

(p? + 9p + 14) ¥R (p? + 13p + 42) 0
T TOMETS 8

A) p+2

B) p+6

C)p+3

D)p+7

1 PECE
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43,

44,

45,

48,

Pramod and Praveen are the sons of
Prajwal. The present age of Prajwal is
4 times the age of Pramod and 6 times
the age of Praveen. If the sum of their
ages is equal to 51 years then the
present ages of sons are

A) 9 years and 6 years

B) 8 years and 9 years

C) 9 years and 4 years

D) 5years and 9 years

In a circle inscribed in AMNO having
MN =12 cm, MO = 14 cm and

NO = 18 cm touching sides at P, Q
and R, then MP + NQ + RO is

A) 18 cm
B) 20 cm
C) 22cm
D) 44 cm

The angle between the hands of a clock
when the time is 4 O’ clock is

A) 60°
B) 90°
) 150°
D) 120°

If sinB + cosecd = 2 then
Sin%0 + cosec?h =

A) 4
B) 3
C) 2
D) 1

Page No. 15

43,

44,

45.

46.

R 3R sefter e F @ ¥ | e
Y A 3 wile Y oY R 4 T
3R weftor it o1 @ 6 T R | AR TR
Y 1 A 51 7 & 7R §, o A2 Y
aam g &

A) 991 3R 6 =

B) 8 g 3R 9 wre

C) 9 4 3R 4 91

D) 5 @& 3t 9 "

AMNO o 3 %I ifa frn m 2,
fSred MN = 12 cm, MO = 14 cm 3fk
NO=18cm2, M y==fi i P, Q, R
R F:@r e, & MP + NQ + RO 2

A) 18cm
B) 20 cm
C) 22cm
D) 44 cm

4 T YIS F el F o A
Trar

A) 60°

B) 90°

C) 150°

D) 120°

3TN sind + cosecd = 2 &, @ sin20 +
cosec’f =

A) 4

B) 3

C) 2

D) 1

1 PECE



47.

48.

49.

50.

Two vertices of a triangle are (1, 3) and
{4, - 5). If its centroid is (7, 2) then the
third vertex is

A) (186, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

Which one of the following is always
true with respect to parallel lines ?

A) sum of their slopes is zero

B) difference of their slopes is zero
C) product of their slopes is zero
D) quotient of their slopes is — 1

2 sin 60°cos 30° cosec 45° .
tan 45° cos 60° sin 45°

simplified we get
A) 6

B) 3V2

When

3
C) -\7—2—
o S
2
The sum of first 20 odd natural
numbers is
A) 210
B} 250
C) 200
D) 400

Page No. 16

47. TrgEF R (1, 3) 3 (4, -5) T 1R
3T T (7, 2) B, o fr wid

48.

49.

50.

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

O @13t o Here 3 i @ i e

e adl 8 ?

A) 3T GEH! 1 T AT I BT B
B) 3% Gl =1 1Y Y[ BT R

C) 37 GetHi 3 UM% ¥4 et 8
D) 3% aaiA! <t wfed — 1 Bt &

2 sin 60°cos 30° cosec 45°
tan 45° cos 60° sin 45°

o W & e g

A) 6

B) 3J2

C) —%
32

D) =5~

ves 20 fam Trepferes TEad
TR

A) 210
B) 250
C) 200
D) 400

B e

gy

{
1 PECE Tl
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51,

52,

53.

54,

55.

CHEMISTRY

—— - gasisliberated when
zinc Is treated with H,SO,.

A) O,
B) SO,
C) H,
D) SO,

Quick lime is
A) CaO

B) CaCl,

C) Ca(OH),
D) Ca(HCO,),

Slaked lime reacts slowly with CO, in
air to form a thin layer of

A} Ca(HCO,),

B) CaO

C) Ca(OH),

D} CaCO,

During respiration
combines with oxygen in the cells and
produces CO, and water.

A) Sucrose
B) Fructose
C) Glucose
D) Galactose

Colour of ferrous sulphate crystals
A) Orange

B) Green

C) Blue

D) Yellow
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51,

52,

53.

54.

55.

WA gm

— wgwed e H,S0,
& wny Rk %1 Iuem Rem s g |

A) O,

B) SO,

C) H,

D) SO,

wfegm_ %
A) CaO

B) CaCl,

C) Ca(OH),

D) Ca(HCO,),

T ga < ot R gan 1§ CO, F Ay
=) gaell Wa T * ferg
fifsrn FRaT @ |

A) Ca(HCO,),

B) CaO

C) Ca(OH),

D) CaCo,

Y9EA % SN FifdreRtet &
ifRISH & Y e CO, ofit arfl
IS T & |
A) g
B) pid

C) Tehiet
D) e

e VR SR W T B
A) rcft
B) &
C) e
D) dien
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56. When lead nitrate is heated emission
of occurs.

A) N,0,
B) NO,
C) NO
D) N,

57. Na,SO, + BaCl, —— BaSO, +
2NaCl is an example for
reaction.

A) Displacement

B) Double displacement
C) Thermal decomposition
D) Redox

58. Chips manufacturers usually flush

bags of chips with gas
to prevent the chips from getting
oxidised.

A) Oxygen

B) Nitrogen

C) Hydrogen
D) Carbon dioxide

59. On passing excess of carbon dioxide
through lime water is
obtained.

A) CaCO,

B) Ca(OH),
C) CaH,

D) Ca(HCO,),

D) Ca(HCO,),
A ;i Page No. 18

56. S Tig HI5ee ol THIN S & 7
1 IS TR SR |

A) N,O,
B) NO,
C) NO
D) N,

57. Na,SO, + BaCl, —— BaSO, +
2NaCl 38 yiefe &
fore u s | |
A) e
B) =reu e
C) yHe T9eeA
D) S

58. Farg Fafar R w fan = erTfaess
MAd R TEFE™
faFIm A U |

A) siffeTsE

B) A

C) &g

D) Fe"eRES

59. < & urh % wrem & fafeEd
HiEHERATFIE TgTH T =
W §el 8 |

A) CaCoO,
B) Ca(OH}),
C) CaH,
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60.

61.

62.

63.

64.

solution does not
conduct electricity.

A) Sodium hydroxide
B) Calcium hydroxide
C) Glucose

D) Hydrochloric acid

pH of blood is
A) 5.6
B) 6.5
C) 74
D) 4.7

Our stomach produces

acid which helps in the digestion.
A) H,SO,

B) HNO,

C) H,PO,

D)} HCI

Stinging hair of nettie leaves inject

causing burning pain.

A) Ethanoic acid
B) Methanoic acid
C) Propanoic acid
D) Butanoic acid

Baking soda is

A) Sodium carbonate

B) Sodium hydrogen carbonate
C)} Sodium hydroxide

D) Sodium chloride
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60.

B61.

62.

63.

64.

& ot forcredt #1 G
T RS |
A) aifemm dgidde
B) ¥eehan deiwde
C) =
D) R uRre

& H pH R
A) 5.6
B) 6.5
C) 7.4
D) 4.7

AT 4 e ht I FHat
2 S e % e weg T € )

A) H,SO0,

B} HNO,

C) H,PO,

D) HC!

o Tt % 9 T o et 35 R
S % T3 T BT TR

A) 3¥Tss Tfis

B) firérise ufire

C) e ufre

D) syeTe s
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A) SifsTm wETe
B) Hifean &g Fee
C) difeTm gl
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65.

66.

67.

68.

69.

70.

is used in the manufacture
of borax.

A) Washing soda

B) Baking soda

C) Sodium hydroxide
D) Sodium sulphate

Plaster Of Paris (POP) is
A) CaS0O,.2H,0

B) CaSO,.H,0

C) CaS0,.12H,0

D) Cas0,.%4H,0

The ability of metals to be drawn in to
thin wires is called

A) Malleability
B} Ductility

C) Condugctivity
D) Sonorous

is most malleable metal.
A) Au
B) Al
C) Fe
D) Zn

is non-metal but it is
lustrous.

A) Carbon
B) Chlorine
C) Bromine
D) lodine

does not react with cold
water.

A) Sodium
B) Calcium
C) Magnesium
D) Potassium

65.

66.

67.

68.

69.

70.

D) urefimm
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A) T g

B) s Hiet

C) difeam tgiws
D) Hifum aethe

e TR A (POP) R |
A) CaSO,.2H,0

B) CaSO,.H,0

C) CaSO,.%2H,0

D) CaSO,.%H,0

Tt i yael Akl § Gl S &
__ _ wEISm@ie |

A) STETAEHRE

B) wreliem

C) yagshd

D) agt/er=

3T ETaEsE uTg ©
A) Au
B) Al
C) Fe
D) Zn
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71.

72.

73.

74.

75.

Manganese react with very dilute

HNO, to evolve gas.

A) H,
B) N,
C) O,
D) NO,

The order of reactivity is
A) Al>Mg > Fe > Zn
B) Mg>Al>2Zn>Fe
C) Al>Mg>2Zn> Fe
D) Mg> Al > Fe > Zn

Cinnabar is
A) HgO
B) CuO
C) HgS
D) Cu,S

Sulphide ores are converted in to
oxides by

A) Combination

B) Reduction

C) Calcination

D} Roasting

Fezog(s)

This reaction is called

3s)

A) Calcination .
B) Thermit reaction
C) Thermal reaction
D) Displacement
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+2Al,—2Fe, + Al,O, , + Heat.

71,

wga et HNO, & are Herfiet & g &
o feRm g g

A) H,

B) N,

C) O,

D) NO,

72. WfafFm s FH g

73.

74.

75.

A) Al>Mg>Fe>2Zn
B) Mg > Al >Zn > Fe

C) Al>Mg>2Zn > Fe
D) Mg > Al> Fe > Zn

fo=em 2
A) HgO
B) CuO
C) HgS
D) Cu,S

TTHITS TTEH! I A
ey # yiEfdd e s @ |
A) T

B) it

C) war

D) ¥

Fezom,

wukfFTR__ wEa g
A) TR

B) emige whafsen

C) wie wfafsran

D) fereemaw

+ 2Al(s) ->2Fem + Alaoam-i- Heat.
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76.

77.

78,

79,

80.

Silver articies become black after
some time when exposed to air. This
is because of coating.

A) Silver sulphate
B) Silver oxide

C) Silver sulphide
D) Silver sulphite

Bronze is an alloy of
A) Cu&Zn

B) Cu & Sn
C) Cu&Pb
D) Cu&Ti

is an alloy used for
welding electrical wires.

A) Bronze
B) Brass
C) Solder
D) Steel

is a major component of
CNG.

A) Methane
B) Ethane
C) Propane
D) Butane

For the hydrogenation of vegetable
oils is used as catalyst.
A) Pt

B) Ni

C) Pd

D) Ag
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76.

77.

78.

79.

80.

T ¥ o oY 3o T AR A

waTe ey B ST & | SR SRR

R

A) Rie aethe

B) e 3tiede
C) fe uewrgs
D) foear wethe

e

A) Cu&Zn
B) Cu & Sn
C) Cu&Pb
D} Cu&Ti

FUH AT ag e )

forereht 3 T i SR & o
Torst g = SuRI R ST ©
A) e
B) diaet
C) e
D) s&ma

CNG =1 & W %
A) T
B) ¥+
C) W
D) =427

FrEfe A % EgeHERT % foe

FI IOTE = T H I35 R A R
A) Pt

B) Ni

C) Pd

D} Ag
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81.

82.

83.

84.

85.

Dehydration of ethanol gives
A) ethane

B) ethanoic acid

C) ethene

D) ether

solution of acetic acid in
water is called vinegar.

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

The melting point of pure ethanoic
acid is

A) 300 K

B) 298 K

C) 310K

D) 290 K

Esters react in the presence of acid
or base to give alcohol and carboxylic
acid is called

A) Esterification
B) Saphonification
C) Hydrolysis

D) Rancidity

Properties of elements are periodic
function of their

A) atomic mass
B) atomic number
C) atomic size

D} atomic nature
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81.

82.

83.

84.

. 85,

39T 1 Fieiefletr
A) 3o

B) s9Ts® Ui

C) i

D) 3e1

e gl

urht 3§ wfifees o g
H fm Fw s R |

A) 5-8%

B) 8-9%

C) 4-6%

D) 6-9%

e s e w s #)
A) 300 K
B) 298 K
C) 310K
D) 290 K

3 ATeigial 3R et Thig 3
% fo uftre o =4 <t sufeufa o wfofemn
Fa ¢ | g T & |

A) RitfReRT=

B) QwmifftherTA

C) tafalm

D) Hfafedh

i % T I
FRE |

A) TTHIY R
B) WHTY] sATH
C) TRHTY BN
D) Yy St
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86.

87.

88.

89.

90.

Modern periodic table has
perlods.

A) 18
B) 8
C) 7
D) 17

Metalloids is
A) Silicon

B} Carbon

C) Magnesium
D) Iron

M shell of chlorine contains
electrons.

A) 7
B) 6
C) 4
D) 5

Metal oxide + Acid — X + water, X is
A) Metal

B) Acid

C) Base

D) Salt

Hydronium ion is
A) H*

B) H,0*

C) OH,®

Q
D) OH
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B) 8
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o1.

92,

pH of milk of magnesia is
A) 11

B) 10

C) 115

D) 10.5

The atmosphere of Venus is made up
of thick white and yellowish clouds of

A) H,S0,
B) HCI
C) HNO,

D) HSO,

93.

94,

95.

acid is present in Tomato.
A) Oxalic
B) Citric
C) Tartaric
D) Methanoic

Aqueous solution of sodium chloride
is called

o1 MR HguHMpH B
A) 1
B) 10
C) 11.5
D) 105

92. YT T JrarE FEA
T 37 i) et A IR
A) H,SO,
B) HCI
C) HNO,
D) HSO,

93. R i _tREANg R R |
A) N=aifers
B) Rifew
C) weiim
D) Rematss

94, GifETm NG F Vel e s
FEd &l

A) Brine A) @

B} Milk of magnesia B) fmifimn %3y

C) Washing soda C) gas dier

D) Baking soda D) afsr A

Bleaching powder is represented as 95, sefifep diet =1 wfefftre
A) CaClO Fal gl

B) CaOCI A) CaClO

0 caon z o

D) Ca,0Cl, D) Ca,0ClI,



96.

97.

98.

99.

100.

Recrystallisation of sodium carbonate
produces

A) Baking Soda

B) Washing Soda

C) Bleaching Powder
D) Gypsum

is used as plaster for
supporting fractured bones in the right
position,
A) CaSO,-10H,0
B) CaSO,2H,0
C) CaSO,"'/,H,0
D) CaSO,

metal exist as liquid at
room temperature.

A) Bromine
B) Mercury
C) Lead
D) Zinc

is an allotrope of carbon
which is hardest in nature.

A) Diamond
B) Graphite
C) Silicon Carbide
D) Fullerene

Amphoteric oxide is
A) CuC

B) Na,0

C) K,0

D) ALO,
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86.

97.

98.

9g;

100.

T e 1 g1; R sanfea
HAT R

A) S gier

B) YSTR  Wie1

C) sefifem det

D) foram

! gl feafy § wfya el
% TOY % o7 et % &9 § ST
R e ® |
A) CaSO,'10H,0
B) CaS0O,:2H,0
C) CaSO0,"/,H,0
D) CaSO,

oTg R & TaH R fafwre
() F A AR R |
A) S
B) #=gR ()
C) &
D) = (swar)

Vi § Terl i IR I ATY UTg
HHAAE 7

A) SIHS

B) ke

C) fufsm Feis

D) Pt

Iyt SAfaaEs

A) CuO
B) Na,0
C) K,0

D) ALO,
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101.

102.

103.

104,

PHYSICS

Image formed by a plane mirror is
always

A) Virtual and erect
B) Real and inverted
C) Virtual and inverted
D) Real and erect

The imaginary line passing through
the center of curvature and pole of a
spherical mirror is

A) Principal focus

B) Principal axis

C) Focal length

D) Parallel ray

A ray parallel to the principal axis after

reflection from a concave mirror will
pass through

A) Principal focus
B) Principal axis
C) Radius of curvature
D) Center of curvature

The size of the image formed by
a convex mirror when an object is
placed at infinity is

A) Paint sized

B) Enlarged

C) Large

D)} Same size
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105.

106.

107.

108.

109.

The type of mirror used by dentists
to see larger images of the teeth of
patients is

A) Concave

B) Convex

C) Plane

D) Plano-convex

The ratio of sine of angle of incidence
to the sine of angle of refraction is a
constant for given pair of media. This
law is known as

A) Maulas law
B) Snell's law

C) Stefan's law
D) Pascal's law

Which among the following has a
larger refractive index ?

A) ice

B) Carbon
C) Diamond
D) Ruby

The effective diameter of the circular
outline of a spherical lens is called

A) Aperture

B) Optic center
C) Pole

D) Principal focus

The focal length of a plane mirror is
A) Zero

B) One

C) Infinity

D) Two
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110. Sl unit of power of a lens is

111.

112.

113.

114,

A) Metre

B) Dioptre

C) Centimeter
0) Steradian

Retina of the eye is a

A) Light sensitive screen -
B) Lens

C) Object

D) Aperture

The human eye can focus objects at
different distances by adjusting the
focal length of the eye lens. This is
called

A) Presbyopia

B) Accommodation
C) Near sightedness
D) Far sightedness

The changs in focal length of an eye
lens Is caused by the actlon of the
A) Pupil

B) Retina

C) Cilliary muscles

D) Iris

The power of accommodation of the
eye usually decreases with ageing. This
condition is called as

A) Myopia

B) Presbyopia
C) Hypermetropia
D) Astigmatism
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A) iz

B) f¥arfex
C) dferex
D) wufeyq
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C) 79
D) fex

i@ & W I Biwe TS B aAGIT
& fafte gt it egal = wme sfw
it gl 8 | T wed §
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B) g
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e % 8 ) et e & it foren
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115.

116.

117.

118.

Among the following colours which
bends the most when white light
undergoes dispersion is

A) Indigo
B) Red

C) Orange
D) Yellow

The twinkling of star is due to

A) Atmospheric refraction
B) Atmospheric diffraction
C) Atmospheric dispersion

D) Scattering of light by the particles in
the atmosphere

The scattering of light by the colloidal

particles is

A) Thermal effect
B) Balwin effect

C) Raman effect

D) Tyndall effect

The blue colour of the sky and the
redding of sun at sunrise and sunset

is caused due to

A) Scattering of light
B) Reflection

C) Thermal effect

D) Atmospheric diffraction D) arpsed foad

115.

116.

117.

118.

e GHT W <1 TR BT §, e
# § Y T G ST el € ?

A) &

B) ©d

C) =mht

C) agHSH SR

D) SRS Uil 3 FI SN i fhiviq
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A) wie INE

B) S WWE

C) THA T
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119. One ampere current is

A) 1coulomb
1second

B) 1 coulomb x 1 second

C) 2 coulomb
1second?

D) 1 coulomb x 1 second?

120. Potential difference between two
points is equai to

A) Work done
Charge

B) Charge x Work done

Charge

Work done
D) (Charge)?

Work done

121. Sl unit of potential difference is

A) Ampere
B) Volt
C) Coulomb
D) Joule

122. 1 ohm is equal to
A) lampere
1volt

B) 1 volt x 1 ampere

C) 1volt
1ampere

D) 1 volt x (1 ampere)?

119.

120.

121,

122,
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123. Ifthe length of the metallic wire is doubled
then the resistance of the wire

A) reduces by half
B) doubles

C) reduces by Y
D) quadruples

124, Sl unit of resistivity is
A) Qm
C) Q

B) Q'm™
D) Qm™

125. When the resistors are connected in
series then

A) Current through each resistor is
same as the total current in the
circuit

B) Voltage across each resistor is same
as the total voltage in the circuit

C) The sum of the current passing
through each resistor is same as the
total current in the circuit

D) The effective resistance is less
than the smallest of the individual
resistance

126. Equivalent resistance (R) of the parallel
combination when two resistors R, and
R, are connected in parallel is equal to
R, +R,
AR,
R1R2
Ry —R,
C)R ="
R, +R,
R1R2
PT R, +R,

A) R, =

B) R, =

D) R

A

123, af vTg ¥ A A e SRt A S, A
A 1 i

A) T8 B Y BT 8
B) g BT ®
C) T =T & T & 3
D) i gl @
124, SRRy 6 T, 3T, T ©
A) Q@m B) Q' m
C) Q D) Qm™

125. w1 WReH # gEen § g S g,

o

A) S Sferieeh i forege e ity & forga
o & SHE B §

B) W% IRy A Teraret dees TRy
¥ T deds & FUE B 8

C) Wi Wfeliush & ToAanet fargaem
=1 g afay % Fo e aw & we
B @

D) wed BYe Fafares wfediy & vt ety
w1 B R

126, 9@ 9 ¥RRIY R, 3R R, GHIER SgT
ST &, Y QAT GASE] WA
e (R) 8

R, +R,

|:‘1F‘2

RR.
R, -R,
o) R, = Fi=Pe
R, +R;

RR,
R, +R,

A) R =

B) R,=

D) R,=
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127.

128.

129.

130.

131.

According to Joule’s law of heating, the
heat generated due to electric current
is given by
A) H=IPRt B) H=IRt
C) H=IR% D) H=IR?
1 watt of power is equal to
A) IW=1Vx1A B) 1W= 1A
1\

I\ v
C) 1W"§\' D) W= A
The commercial unit of electrical

energy is

A) Kilowatt hour
B) Kilowatt

hour
C) Kilowatt/hour?

D) Kilowatt (hour)?

The resistance of a wire is

A) directly proportional to its area of
cross section

B) inversely proportional to its area of
cross section

C) independent of its area of cross
section

D) proportional to square of its area of
cross section

Conductors of electric heating devices
such as bread toasters and electric
irons are made by alloy rather than pure
metals because

A) Alloys have low resistivity

B) Alloys have high resistivity

C) Itis not dependent on resistivity
D) None of the above
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132.

133.

134.

A current through a horizontal power
line flows in East to West direction. The
direction of magnetic field at a point
diréctly below the power line is

A) North to South
B) South to North
C) West to East
D) Eastto West

The magnetic field due to current

carrying circular coil having n turns is

A) n? times as large as that produced
by a single turn

B) ntimes as large as that produced by
a single turn

C) % times as large as that produced
by a single turn

D) will be same as that produced by a
single turn

The strong magnetic field produced
inside a solenoid can be usedto magnetise
a piece of magnetic material like soft
iron when placed inside the coil. The
magnet so formed is called as

A) Electromagnet
B) Diamagnet
C) Paramagnet

D) Permanent magnet
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135. The magnetic field inside a long straight

136.

137.

138.

solenoid carrying current

A) is zero

B) decreases as we move towards its
end

C) increases as we move towards its
end

D) is the same at all points

According to Fleming’s left hand rule,
the fore finger is pointed towards the
direction of

A) Electric current

B) Magnetic field

C) Force exerted

D) Motion of the conductor

The device that detects the presence
of a current in a circuit is

A) Voltmeter

B) Galvanometer
C) Resistor

D) Diode

The basic phenomenon of working of
an electric generator is

A) Electromagnetic induction
B) Hall effect

C) Ferroelectric effect

D) Photoelectric effect
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139.

140.

141.

142.

A rectangular coil of copper wire is
rotated in a magnetic field. The direction
of the induced current changes once in
each

A) 2 revolutions
B) 1 revolution

C) half revolution
D) %‘hrevolution

Magnetic field lines are shown closer
together where the magnetic field is

A) Stronger
B) Weak
C) Constant

D) None of the above

The magnetic field of a solenoid carrying
a current is similar to that of a

A) Bar magnet
B) Resistor
C) Electric motor

D) Iron core

The AC supply to the houses is of
220 V, 50 Hz. One of the wires in this
supply is with red insulation called as
A) Live wire

B) Neutral wire

C) Earth wire

D) None of the above
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143.

144,

145.

146.

The phenomenon of Electro-magnetic
induction is

A) Process of charging a body

B) Process of generating magnetic
field due to a current passing
through a coil

C) Inducing electric current in a coil
due to relative motion between a
magnet and the coil

D) The process of rotating a coil of an
electric motor

At the time of short circuit, the current
in the circuit

A) Reduces substantially
B) Does not change
C) Increases heavily

D) Vary continuously

The device used for producing electric
current is called as

A) Generator

B) Galvanometer
C) Ammeter

D) Motor

The safety device used for protecting
the circuits from short circuiting is

A) Resistor
B) Fuse

C) Motor
D) Generator
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147.

148.

149.

150.

The direction of the electric current is
taken

A) Same as the direction of flow of
electrons

B) Opposite to the direction of flow of
electrons

C) Perpendicular to the direction of flow
of electrons

D) There is no direction for the current
due to fiow of electrons

A piece of wire of resistance R is cut into
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R,

the ratio %' is
A Jas
B) )g

C) 5
D) 25

Which of the following is not an example
of conventional energy source ?

A) Wood B) Gobar gas
C) Nuclearenergy D) Coal

Which among the following is a
non-conventional source of energy ?
A) Fossil fuel

B) Solar energy

C) Hydro power plant

D) Wind energy
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Answer Key for 1 PECE (Set-A)

. No. | Answer Key O.No. | Answer Key O, No. | Answer Key |
1 B 51 C 101 A
2 A 52 A 102 B
3 D 53 D 103 A
4 C 54 C 104 A
5 A b5 B 105 A
6 B 56 B 106 B
7 C 57 B 107 C
8 D 58 B 108 A
9 B 59 D 109 C

10 C 60 C 110 B

11 D 61 C 111 A

12 A 62 D 112 B

13 B 63 B 113 C

14 D 64 B 114 B

15 C 65 A 115 A

16 A 66 C 1186 A

17 D 67 B 117 D

18 B 68 A 118 A

19 D 69 D 119 A

20 A 70 C 120 A

21 D 71 A 121 B

22 C 72 B 122 C

23 C 73 C 123 B

24 B 74 D 124 A

25 A 75 B 125 A

26 A 76 C 126 D

27 C 77 B 127 A

28 D 78 C 128 A

29 A 79 A 129 A

30 B BO B 130 B

a1 C 81 C 131 B

32 A 82 A 132 A

33 A 83 D 133 B

34 C 84 B 134 A

35 D 85 B 135 D

36 B 86 C 136 B

37 B 87 A 137 B

38 B 88 A 138 A

39 A 89 D 139 C

40 C 90 B 140 A

41 B 91 B 141 A

42 D 92 A 142 A

43 A 93 A 143 C

44 C 94 A 144 C

45 D 95 C 145 A

46 C 96 B 146 B

47 A 97 C 147 B

48 B 98 B 148 D

49 A 99 A 149 C

50 D 100 D 150 B




